AA/ Ve /oW 2 ylaial g 46 e XS 7 9 V-3 B ,JWQI-! ‘ 3 Tolgils pb g pli
e PR 1 plaiet Cale ' 390 i 30509 P 3987 IS 0 0t : Slolyys g0 pli
Wby e 1 glualcdy e e e Tl il capae | - A1 Jyf 3 loand Jlo g a9

¥ i Slow (99 Hdnwgin) ST 338 053 b (yli gurd ; il pho s sl
sliref tdg g diasaiogei | . slasl  iae sBT: yud ol Ty hog | 0440

(0509 ) hamt 4ig 1390 0 030 21 305 S 0% S0 00—

x22+6x+9
xz-9

x:-25 xx—d—
x24+x—20 x-—-5

 (omi )t Jo 1 10 T e i0dgad Joikd Wholas 3 31 25 s

Dt ¥ yilyr U 4] £ gama a5 0y yal s 3 1) Jlgte (o Sus g3 (Al
D9 VA il & adlial 4y 5T 2l 90 &5 b 1y gous (o
(oy0i 1)l T s Wy x = —Sj X = 245 dumdgid ghygd 40 dola—T

(03551 )oti Jor ikl ity iy, 41 133 g0 dr 33 S olan 31 Sy 4~ F

) 432 —36 =0 5 ad)

AR +TXx—2=0 Wby,




gl e _ )
@)X =12x4+32=0 Juis py

(0903 1.8) o0y udeline ad g glyl3 2% —4x+ m—1 =0pgd Q,ﬁdﬂh‘%a@'ﬂ")&'b )

(005Y)-0si5 Jor 15 25 olac—F

Im
|
ls
It
|...

=

]

[y
]
+
w
»
|
[ ]

(005 + Y D)1 2 Tt QU Saafas—Y

A
g={ (\,'Y),(\,T’),(T,O) } g : ' —’) >
wall

(.,b.VA);u 2587 Cuwd 431y F(0) X (2) Jhie iiido g () =Vai—3 g f(x) =% —5x+6 A

(050 1.0)i 13T Gt gty oo 00 o 38 44 01 iy -4

f={(-1,22),(-1,4), (3/5, 7),(1,-1),(¥3,x - 2y)}



gy = 22— 3 b 810 oyt

(0.5091:8).38 33T Cansd dg 13 colutidne (510 s9on0 U 510989 8395 3 Bl o 9 99989

(050 V)it f(1) = 43f(=2) =75 S 216 S g1
Al oy |y &5 2! S9N
g 30T Canty [y oS &5 2l el

b g | a5 @A oot AilS(E

(058 ) 9T Gy y = 2% + 20 — 1 pgd 4233 alao 531, 9 00 alys 3510 —1Y

s .



